LAB QUIZ 6
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b. 3:{:+I+5]ﬂ|x|+31ﬂ|x—l|+%+f
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2.

4x* —10x
X
J- (x—=3)(x-06)

a) —50]11|x—5|+23]11|x—ﬁ|+%+[3

b) 8njx-5-9%hx-§-——+C

c) S0lnjx—5—46In|x—6|—

d) S0Infx-5—-46ln|xr—6l+——+C

e) 46ln|x—5{-50n|x—6(——
f) None of these



3.

W L=t 7(x) beapositive function that is increasing and concave up over the inferval [a.b]. Which of the
following is/are true? (B right end point approximation over this interval, L: left end point, T:
trapezoidal, S:Simpson’s.)

L Ly<I <R
(1) Ly<Sp<hy

Gi) Tp<[fOax

a

a) (). (i) and (i)
b) (1) and (i1) only
c) (1) and (111) only
d) (i) only

e) (i) and (1i1) only
f) MNone of these



4.

B Let f(x) beapositive function that is increasing and concave down over the interval [a,b]. Which of
the following is/are true? (B right end point approximation over this interval, L: left end point, T:
trapezoidal. 5:5impson’s.)

@  Ry<T<L,
@ R, <S,<L,
]

(i) T <[ f(x)dx

a

a) (). (i) and (iii
b} (1) and (i1) only
c) (1) and (1i1) only
d) (i) only

e) (i) and (ii1) only
f) None of these



5.

Suppose f(z) is an decreasing, concave down function and you use numeric integration to compute
the integral of f over the interval [0, 1]. Put the values of the errors for each approximation using

n = 100 for the right end-point rule (E m) the trapezoid rule (Ef'“ﬂ] and Simpson’'s rule (Eigm]
from the least to the greatest.

a) OF mur 1nn= Ei;zuu
b) OER,, EL., Ean
c) OER,, ES., EL,
d) O Ef, Efw Efpy
e) DEl{Iﬂr 1lm-.| E
f) (O MNone of the above.



